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Note: (a)Al] questions are compuilsory.,
(b)Marks are indicated againgy each question in Square brackets,
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{¢) The candidate is allowed to make Suitable numeric assumptions wherever réi jfzg}cf Jor
solving problems s L

Ql. a.  Discuss the concept of Bit Stuffing and Byte Stuffing. Shqwff;ﬁ’e;ﬁame which 3
[CO3] I8 sent and recejved by DLL when the data from uggen%%?gﬁls as follows:
0001111111001111101000. é{%%?ﬁf
b.  Find the CRC which is appended in the datawogd:""@g@;l- g&d Divisor: 1011

- An organization is granted the block 16.0.%.?0;{
[CO4] Create 500 fixed-length subnets, '
1. Find the subnet mask, &
ii.  Find the number of addresses iffeach subhet,
iii.  Find the first and Jast addresss i siibnet |,
iv.  Find the first and last addtessesdh subnet 500, |
b.  An Internct Service Provider QS,PP)has the following chunk of CIDR-based
IP addresses available %th%f%fi 248.128.0/20. The ISP wants to give half

16: administraor wants to

of this chunk of addre%sé?’fsﬁ?gﬁgréanizaﬁon A, and a quarter of Organization B,
while retaining the ‘Fen aitiing with itself. Which of the following is a valig
allocation of addréses A and B?

Q3. Imagine a scengrip whee;

[CO4]  server. A number ‘pf switches and other devices are involved in the route thus

procg s‘g ea’é’ﬁ Dbacket. Each packet takes time of 2 msec/km to reach jts destination
f oﬁl% S0 /l%}f In addition to this, each packet spends 0.5 msec waiting at

s/ Intermediate nodes,

- a. Difference between CSMA/CD and CSMA/CA? 2
[CO3] b. A pure ALOHA network transmits 200-pit frames on a shared channe] of
200 kbps. What is the throughput if the System (all stationg together) 5
produces .
C 1 250 frames per second?
. -1000 frames per second?
. 500 frames per second?
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